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QUESTION 1

When conducting an analogue functional analysis, the condition commonly used as a control is the:
A. home condition.

B. play condition.

C. social attention condition.

D. demand condition.

Correct Answer: B

QUESTION 2

Trials to criterion refers to a measure of A. fluency.
B. performance.

C. rate of correct responding.

D. interobserver agreement.

Correct Answer: B

QUESTION 3

When demands are placed on Raoul, he is often observed to hit his head, bite his hand, or slap the therapist. These
behaviors are reinforced by termination of the demands. Taken together, these behaviors comprise

A. an establishing operation.

B. a functional response class.

C. respondent behaviors.

D. a topographical response class.

Correct Answer: B

QUESTION 4
A mand is:
A. a demand for attention.

B. a verbal operant which specifies its reinforcer.
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C. verbal behavior elicited by a particular reinforcer.
D. a verbal response which changes the value of a reinforcer.

Correct Answer: B

QUESTION 5

A person engages in target behaviors in environments different from the original training environment. This is a
demonstration of

A. stimulus generalization.
B. response generalization.
C. stimulus discrimination.
D. response induction.

Correct Answer: A

QUESTION 6

Reviewing written documentation of a student\\'s life and behavior is one method used for collecting information when
conducting A.

A. descriptive assessment.
B. functional analysis.

C. narrative recording.

D. reinforcer assessment.

Correct Answer: A

QUESTION 7

Which method is the BEST to use when presenting categorical data from a functional analysis?
A. a bar graph

B. anecdotal report

C. scatter plot

D. standard celeration chart

Correct Answer: A
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QUESTION 8

In order to decrease the occurrence of an inappropriate behavior effectively, a behavior analyst should simultaneously
increaskE.

A. reinforcement for all other behaviors.

B. acceptable alternative behaviors.

C. consequences for inappropriate behavior.
D. response effort for incompatible behaviors.

Correct Answer: B

QUESTION 9
Which of the following would MOST clearly demonstrate a functional relationship?
A. Conduct narrative recordings in various settings. Then compile a sequence analysis.

B. Directly observe environmental events and target behaviors as they normally occur in an unobtrusive manner, in the
natural environment.

C. Execute repeated rapid alternations between different environmental conditions. Collect and graph data.

D. Use a scatterplot to both collect and graph data. When sufficient baseline data have been collected, complete a
pattern analysis.

Correct Answer: C

QUESTION 10

Fara has identified two procedures that have an equal probability of being effective. In order to select the better
procedure, she should

A. choose the procedure that falls within the staff\\'s level of competence.

B. determine which procedure is most clinically popular based on the rate of use by professionals.
C. select the procedure that best utilizes the existing funding stream.

D. use a random number table to rule out bias.

Correct Answer: A

QUESTION 11
When implementing punishment procedures, the behavior analyst:

A. must include a reinforcement procedure.
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B. can use punishment alone if a reinforcement procedure was not effective.
C. does not have to include a reinforcement procedure if consented to by the client.
D. is required to introduce a reinforcement procedure if the problem behavior increases.

Correct Answer: A

QUESTION 12

When setting criteria for behavior change, behavior analysts attempt to implement the simplest mode of intervention
necessary to elicit the desired outcome. As such, the identified outcome criteria should be

A. applied to ecological assessments to generalize skills.

B. developed prior to the identified intervention.

C. initially broad in focus with subsequent reduction to a target response.
D. measured independent of practice effects or reactivity.

Correct Answer: B

QUESTION 13

In order to obtain the GREATEST increase in the value of an identified reinforcer after satiation has occurred, the
behavior analyst shoulD.

A. deliver the reinforcer non-contingently.
B. reduce the magnitude of the reinforcer.
C. thin the schedule of reinforcement.
D. temporarily remove the reinforcer.

Correct Answer: D

QUESTION 14

To facilitate errorless learning, begin witH.
A. backward chaining.

B. fading stimulus prompts.

C. forward chaining.

D. response prompts.

Correct Answer: D
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QUESTION 15

Which is NOT a necessary component of a token economy system?
A. backup reinforcers

B. exchange procedures

C. generalized conditioned reinforcers

D. response cost procedures

Correct Answer: D
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